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NEW QUESTION 1

- (Topic 2)

You have a Fabric tenant that contains a warehouse. The warehouse uses row-level security (RLS). You create a Direct Lake semantic model that uses the Delta
tables and RLS of the warehouse. When users interact with a report built from the model, which mode will be used by the DAX queries?

A. DirectQuery
B. Dual

C. Direct Lake
D. Import

Answer: A

Explanation:

When users interact with a report built from a Direct Lake semantic model that uses row-level security (RLS), the DAX queries will operate in DirectQuery mode
(A). This is because the model directly queries the underlying data source without importing data into Power Bl. References = The Power Bl documentation on
DirectQuery provides detailed explanations of how RLS and DAX queries function in this mode.

NEW QUESTION 2

- (Topic 2)

You have a semantic model named Model 1. Model 1 contains five tables that all use Import mode. Modell contains a dynamic row-level security (RLS) role
named HR. The HR role filters employee data so that HR managers only see the data of the department to which they are assigned.

You publish Modell to a Fabric tenant and configure RLS role membership. You share the model and related reports to users.

An HR manager reports that the data they see in a report is incomplete. What should you do to validate the data seen by the HR Manager?

A. Ask the HR manager to open the report in Microsoft Power Bl Desktop.

B. Select Test as role to view the data as the HR role.

C. Select Test as role to view the report as the HR manager,

D. Filter the data in the report to match the intended logic of the filter for the HR department.

Answer: B

Explanation:

To validate the data seen by the HR manager, you should use the 'Test as role' feature in Power Bl service. This allows you to see the data exactly as it would
appear for the HR role, considering the dynamic RLS setup. Here is how you would proceed:

? Navigate to the Power Bl service and locate Modell.

? Access the dataset settings for Modell.

? Find the security/RLS settings where you configured the roles.

? Use the 'Test as role' feature to simulate the report viewing experience as the HR role.

? Review the data and the filters applied to ensure that the RLS is functioning

correctly.

? If discrepancies are found, adjust the RLS expressions or the role membership as needed.

References: The 'Test as role' feature and its use for validating RLS in Power Bl is covered in the Power Bl documentation available on Microsoft's official
documentation.

NEW QUESTION 3

HOTSPOT - (Topic 2)

You have a data warehouse that contains a table named Stage. Customers. Stage- Customers contains all the customer record updates from a customer
relationship management (CRM) system. There can be multiple updates per customer

You need to write a T-SQL query that will return the customer ID, name, postal code, and the last updated time of the most recent row for each customer ID.
How should you complete the code? To answer, select the appropriate options in the answer area,

NOTE Each correct selection is worth one point.
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SELECT [CuitonerlD]
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SELECT Customer]D, Cuptoasriesy, Poitsldods, Laitlpdated
FRiM CUSTOERLASE
[WHERE ¥ = 1 -]
Having MaxLastUpdated) = 1
WHERE LastUpdated = MasiLastUpdated)
A. Mastered

B. Not Mastered
Answer: A

Explanation:

? In the ROW_NUMBER() function, choose OVER (PARTITION BY CustomerlD ORDER BY LastUpdated DESC).

? In the WHERE clause, choose WHERE X = 1.

To select the most recent row for each customer ID, you use the ROW_NUMBER() window function partitioned by CustomerID and ordered by LastUpdated in
descending order. This will assign a row number of 1 to the most recent update for each customer. By selecting rows where the row number (X) is 1, you get the
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latest update per customer. References =
? Use the OVER clause to aggregate data per partition
? Use window functions

NEW QUESTION 4

DRAG DROP - (Topic 2)

You have a Fabric tenant that contains a lakehouse named Lakehousel

Readings from 100 IoT devices are appended to a Delta table in Lakehousel. Each set of readings is approximately 25 KB. Approximately 10 GB of data is
received daily.

All the table and SparkSession settings are set to the default.

You discover that queries are slow to execute. In addition, the lakehouse storage contains data and log files that are no longer used.

You need to remove the files that are no longer used and combine small files into larger files with a target size of 1 GB per file.

What should you do? To answer, drag the appropriate actions to the correct requirements. Each action may be used once, more than once, or not at all. You may
need to drag the split bar between panes or scroll to view content.

NOTE: Each correct selection is worth one point.
Actio Ardwer Ares

A. Mastered
B. Not Mastered

Answer: A

Explanation:

? Remove the files: Run the VACUUM command on a schedule.

? Combine the files: Set the optimizeWrite table setting. or Run the OPTIMIZE command on a schedule.

To remove files that are no longer used, the VACUUM command is used in Delta Lake to clean up invalid files from a table. To combine smaller files into larger
ones, you can either set the optimizeWrite setting to combine files during write operations or use the OPTIMIZE command, which is a Delta Lake operation used to
compact small files into larger ones.

NEW QUESTION 5

- (Topic 2)

You have a Fabric tenant that contains a lakehouse named lakehousel. Lakehousel contains an unpartitioned table named Tablel.
You plan to copy data to Tablel and partition the table based on a date column in the source data.

You create a Copy activity to copy the data to Tablel.

You need to specify the partition column in the Destination settings of the Copy activity. What should you do first?

A. From the Destination tab, set Mode to Append.

B. From the Destination tab, select the partition column,
C. From the Source tab, select Enable partition discovery
D. From the Destination tab, set Mode to Overwrite.

Answer: B

Explanation:

Before specifying the partition column in the Destination settings of the Copy activity, you should set Mode to Append (A). This will allow the Copy activity to add
data to the table while taking the partition column into account. References = The configuration options for Copy activities and partitioning in Azure Data Factory,
which are applicable to Fabric dataflows, are outlined in the official Azure Data Factory documentation.

NEW QUESTION 6
HOTSPOT - (Topic 2)
You have the source data model shown in the following exhibit.
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The primary keys of the tables are indicated by a key symbol beside the columns involved in each key.

You need to create a dimensional data model that will enable the analysis of order items by date, product, and customer.
What should you include in the solution? To answer, select the appropriate options in the answer area.

NOTE: Each correct selection is worth one point.
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

? The relationship between Orderltem and Product must be based on: Both the CompanyID and the ProductID columns

? The Company entity must be: Denormalized into the Customer and Product

entities

In a dimensional model, the relationships are typically based on foreign key constraints between the fact table (Orderltem) and dimension tables (Product,
Customer, Date). Since CompanyID is present in both the Orderltem and Product tables, it acts as a foreign key in the relationship. Similarly, ProductID is a foreign
key that relates these two tables. To enable analysis by date, product, and customer, the Company entity would need to be denormalized into the Customer and
Product entities to ensure that the relevant company information is available within those dimensions for querying and reporting purposes. References =

? Dimensional modeling

? Star schema design

NEW QUESTION 7

- (Topic 2)

You have a Fabric tenant that contains a complex semantic model. The model is based on a star schema and contains many tables, including a fact table named
Sales. You need to create a diagram of the model. The diagram must contain only the Sales table and related tables. What should you use from Microsoft Power
Bl Desktop?

A. data categories
B. Data view

C. Model view

D. DAX query view

Answer: C

Explanation:

To create a diagram that contains only the Sales table and related tables, you should use the Model view (C) in Microsoft Power Bl Desktop. This view allows you
to visualize and manage the relationships between tables within your semantic model. References = Microsoft Power Bl Desktop documentation outlines the
functionalities available in Model view for managing semantic models.

NEW QUESTION 8

- (Topic 2)

You have a Fabric tenant that contains a warehouse.

Several times a day. the performance of all warehouse queries degrades. You suspect that Fabric is throttling the compute used by the warehouse.
What should you use to identify whether throttling is occurring?

A. the Capacity settings
B. the Monitoring hub
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C. dynamic management views (DMVs)
D. the Microsoft Fabric Capacity Metrics app

Answer: B

Explanation:

To identify whether throttling is occurring, you should use the Monitoring hub (B). This provides a centralized place where you can monitor and manage the health,
performance, and reliability of your data estate, and see if the compute resources are being throttled. References = The use of the Monitoring hub for performance
management and troubleshooting is detailed in the Azure Synapse Analytics documentation.

NEW QUESTION 9

- (Topic 2)

You have a Fabric tenant that contains a semantic model. The model contains 15 tables.

You need to programmatically change each column that ends in the word Key to meet the following requirements:
* Hide the column.

* Set Nullable to False.

» Set Summarize By to None

* Set Available in MDX to False.

» Mark the column as a key column. What should you use?

A. Microsoft Power Bl Desktop
B. Tabular Editor

C. ALM Toolkit

D. DAX Studio

Answer: B

Explanation:

Tabular Editor is an advanced tool for editing Tabular models outside of Power Bl Desktop that allows you to script out changes and apply them across multiple
columns or tables. To accomplish the task programmatically, you would:

? Open the model in Tabular Editor.

? Create an Advanced Script using C# to iterate over all tables and their respective columns.

? Within the script, check if the column name ends with 'Key'.

? For columns that meet the condition, set the properties accordingly: IsHidden = true, IsNullable = false, SummarizeBy = None, IsAvailableiInMDX = false.
? Additionally, mark the column as a key column.

? Save the changes and deploy them back to the Fabric tenant.

References: The ability to batch-edit properties using scripts in Tabular Editor is well- documented in the tool's official documentation and user community
resources.

NEW QUESTION 10

- (Topic 2)

You have a Microsoft Power Bl report named Reportl that uses a Fabric semantic model. Users discover that Reportl renders slowly.

You open Performance analyzer and identify that a visual named Orders By Date is the slowest to render. The duration breakdown for Orders By Date is shown in
the following table.

Name Duration (ms)
DAX query 27
Visual display 39
Other 1047

What will provide the greatest reduction in the rendering duration of Report1?

A. Change the visual type of Orders By Dale.

B. Enable automatic page refresh.

C. Optimize the DAX query of Orders By Date by using DAX Studio.
D. Reduce the number of visuals in Reportl.

Answer: C

Explanation:

Based on the duration breakdown provided, the major contributor to the rendering duration is categorized as "Other," which is significantly higher than DAX Query
and Visual display times. This suggests that the issue is less likely with the DAX calculation or visual rendering times and more likely related to model performance
or the complexity of the visual. However, of the options provided, optimizing the DAX query can be a crucial step, even if "Other" factors are dominant. Using DAX
Studio, you can analyze and optimize the DAX queries that power your visuals for performance improvements. Here’'s how you might proceed:

? Open DAX Studio and connect it to your Power Bl report.

? Capture the DAX query generated by the Orders By Date visual.

? Use the Performance Analyzer feature within DAX Studio to analyze the query.

? Look for inefficiencies or long-running operations.

? Optimize the DAX query by simplifying measures, removing unnecessary calculations, or improving iterator functions.

? Test the optimized query to ensure it reduces the overall duration.

References: The use of DAX Studio for query optimization is a common best practice for improving Power Bl report performance as outlined in the Power BI
documentation.

NEW QUESTION 10

- (Topic 2)

You have a Fabric tenant that contains a machine learning model registered in a Fabric workspace. You need to use the model to generate predictions by using
the predict function in a fabric notebook. Which two languages can you use to perform model scoring? Each correct answer presents a complete solution. NOTE:
Each correct answer is worth one point.
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A. T-SQL

B. DAX EC.
C. Spark SQL
D. PySpark

Answer: CD

Explanation:

The two languages you can use to perform model scoring in a Fabric notebook using the predict function are Spark SQL (option C) and PySpark (option D). These
are both part of the Apache Spark ecosystem and are supported for machine learning tasks in a Fabric environment. References = You can find more information
about model scoring and supported languages in the context of Fabric notebooks in the official documentation on Azure Synapse Analytics.

NEW QUESTION 13

HOTSPOT - (Topic 2)

You have a Fabric tenant that contains two lakehouses.

You are building a dataflow that will combine data from the lakehouses. The applied steps from one of the queries in the dataflow is shown in the following exhibit.
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Use the drop-down menus to select the answer choice that completes each statement based on the information presented in the graphic. NOTE: Each correct
selection is worth one point.
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A. Mastered

B. Not Mastered
Answer: A

Explanation:

Folding in Power Query refers to operations that can be translated into source queries. In this case, "some" of the steps can be folded, which means that some
transformations will be executed at the data source level. The steps that cannot be folded will be executed within the Power Query engine. Custom steps,
especially those that are not standard query operations, are usually executed within Power Query engine rather than being pushed down to the source system.
References =

? Query folding in Power Query

? Power Query M formula language

NEW QUESTION 16
HOTSPOT - (Topic 2)

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM DP-600 Dumps From Exambible
exam blb|@ https://www.exambible.com/DP-600-exam/ (80 Q&AS)

You have a Fabric workspace named Workspacel and an Azure Data Lake Storage Gen2 account named storage"!. Workspacel contains a lakehouse named
Lakehousel.

You need to create a shortcut to storage! in Lakehousel.

Which connection and endpoint should you specify? To answer, select the appropriate options in the answer area.

NOTE: Each correct selection is worth one point.

Answer Anca

Connection:  abfss -
abfs
hitps
Endpoint  dic v
bilah

ke

A. Mastered
B. Not Mastered

Answer: A

Explanation:

When creating a shortcut to an Azure Data Lake Storage Gen2 account in a lakehouse, you should use the abfss (Azure Blob File System Secure) connection
string and the dfs (Data Lake File System) endpoint. The abfss is used for secure access to Azure Data Lake Storage, and the dfs endpoint indicates that the Data
Lake Storage Gen2 capabilities are to be used.

NEW QUESTION 18

- (Topic 2)

You have a Fabric tenant that contains a semantic model named Modell. Modell uses Import mode. Modell contains a table named Orders. Orders has 100
million rows and the following fields.

Name Data type Description
Orderid Integer Column imported from the source
OrderDateTime Dateftime | Column impaorted from the source
Quantity Integer Column imported from the source
Price Decimal Column imported from the source
TotalSalesAmount Decimal Calculated column that multiplies
Quantity and Price
TotalQuantity Integer Measure

You need to reduce the memory used by Model! and the time it takes to refresh the model. Which two actions should you perform? Each correct answer presents
part of the solution. NOTE: Each correct answer is worth one point.

A. Split OrderDateTime into separate date and time columns.
B. Replace TotalQuantity with a calculated column.

C. Convert Quantity into the Text data type.

D. Replace TotalSalesAmount with a measure.

Answer: AD

Explanation:

To reduce memory usage and refresh time, splitting the OrderDateTime into separate date and time columns (A) can help optimize the model because date/time
data types can be more memory-intensive than separate date and time columns. Moreover, replacing TotalSalesAmount with a measure (D) instead of a
calculated column ensures that the calculation is performed at query time, which can reduce the size of the model as the value is not stored but calculated on the
fly. References = The best practices for optimizing Power Bl models are detailed in the Power Bl documentation, which recommends using measures for
calculations that don't need to be stored and adjusting data types to improve performance.

NEW QUESTION 21
- (Topic 2)
You are analyzing customer purchases in a Fabric notebook by using PySpanc You have the following DataFrames:

weh bomn! Domasns fve colurnes narsesd ¢ EnpscT bon_ld covtoma_ LE, prochast ld ssonet, SR dwte B0l P 140 million rows. with each rosw MORESNTING & [RRNARITIN

o itesars: Comlang Surlome detisky in 1000 rows and thiee colamng Named Custoser_Li, sees, 83 (astey

You need to join the DataFrames on the customer_id column. The solution must minimize data shuffling. You write the following code.

from pyspark.sql import functions as F

results =
Which code should you run to populate the results DataFrame?
A)
transactions. join{F.brosdcacst{customers ), transactions.customer_id == customers.customer_id)
B)

transactions.join{customers, transactions.customer _id == customers.customer_id).distinct()

.
transactions.join{customers, transactions.customer_id == customers.customer _id)

D)

transactions.cross .-l:l"'-:.l'll:.iui'f:lt!l"i-? .-.FE'I"!:"EI"BF-EHCTi':I'-S . CHSTBI‘-EF_iG == CUSTOMErE .Cuin_‘l‘“El"_iﬂ_!
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

Explanation:

The correct code to populate the results DataFrame with minimal data shuffling is Option A. Using the broadcast function in PySpark is a way to minimize data
movement by broadcasting the smaller DataFrame (customers) to each node in the cluster. This is ideal when one DataFrame is much smaller than the other, as
in this case with customers. References = You can refer to the official Apache Spark documentation for more details on joins and the broadcast hint.

NEW QUESTION 26

- (Topic 2)

You have a Fabric workspace named Workspace 1 that contains a dataflow named Dataflowl. Dataflow! has a query that returns 2.000 rows. You view the query
in Power Query as shown in the following exhibit.
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What can you identify about the pickupLongitude column?

A. The column has duplicate values.

B. All the table rows are profiled.

C. The column has missing values.

D. There are 935 values that occur only once.

Answer: B

Explanation:

The pickupLongitude column has duplicate values. This can be inferred because the 'Distinct count' is 935 while the ‘Count’ is 1000, indicating that there are
repeated values within the column. References = Microsoft Power Bl documentation on data profiling could provide further insights into understanding and
interpreting column statistics like these.

NEW QUESTION 29

- (Topic 2)

You have a Microsoft Power Bl semantic model that contains measures. The measures use multiple calculate functions and a filter function.
You are evaluating the performance of the measures.

In which use case will replacing the filter function with the keepfilters function reduce execution time?

A. when the filter function uses a nested calculate function

B. when the filter function references a column from a single table that uses Import mode
C. when the filter function references columns from multiple tables

D. when the filter function references a measure

Answer: A

Explanation:

The KEEPFILTERS function modifies the way filters are applied in calculations done through the CALCULATE function. It can be particularly beneficial to replace
the FILTER function with KEEPFILTERS when the filter context is being overridden by nested CALCULATE functions, which may remove filters that are being
applied on a column. This can potentially reduce execution time because KEEPFILTERS maintains the existing filter context and allows the nested CALCULATE
functions to be evaluated more efficiently. References: This information is based on the DAX reference and performance optimization guidelines in the Microsoft
Power Bl documentation.

NEW QUESTION 32

DRAG DROP - (Topic 2)

You are implementing two dimension tables named Customers and Products in a Fabric warehouse.

You need to use slowly changing dimension (SCO) to manage the versioning of data. The solution must meet the requirements shown in the following table.

Table Change action
Customers | Create a new version of the row
Products Dverwrite the existing value in the latest row

Which type of SCD should you use for each table? To answer, drag the appropriate SCD types to the correct tables. Each SCD type may be used once, more than
once, or not at all. You may need to drag the split bar between panes or scroll to view content.
NOTE: Each correct selection is worth one point.
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SCD Types Answer Area

it Typel if Typel Customers:

:": T.II- = -‘ E.: Ype

A. Mastered
B. Not Mastered

Answer: A

Explanation:

For the Customers table, where the requirement is to create a new version of the row, you would use:

? Type 2 SCD: This type allows for the creation of a new record each time a change occurs, preserving the history of changes over time.
For the Products table, where the requirement is to overwrite the existing value in the latest row, you would use:

? Type 1 SCD: This type updates the record directly, without preserving historical data.

NEW QUESTION 35

- (Topic 2)

You are the administrator of a Fabric workspace that contains a lakehouse named Lakehousel. Lakehousel contains the following tables:
* Tablel: A Delta table created by using a shortcut

» Table2: An external table created by using Spark

 Table3: A managed table

You plan to connect to Lakehousel by using its SQL endpoint. What will you be able to do after connecting to Lakehousel1?

A. ReadTable3.

B. Update the data Table3.
C. ReadTable2.

D. Update the data in Tablel.

Answer: D

NEW QUESTION 39

HOTSPOT - (Topic 2)

You have a Microsoft Power Bl semantic model. You plan to implement calculation groups.

You need to create a calculation item that will change the context from the selected date to month-to-date (MTD).
How should you complete the DAX expression? To answer, select the appropriate options in the answer area.
NOTE: Each correct selection is worth one point.

Answer Area
L | L ..._ -
GEMERATE
MEASURE |
| SELECTEDMEASLIRE w
COMBINEVALUES
SELECTEDMEASURE
SELECTEDVALLUE
A. Mastered

B. Not Mastered
Answer: A

Explanation:

To create a calculation item that changes the context from the selected date to month-to- date (MTD), the appropriate DAX expression involves using the
CALCULATE function to alter the filter context and the DATESMTD function to specify the month-to-date context. The correct completion for the DAX expression
would be:

? In the first dropdown, select CALCULATE.

? In the second dropdown, select SELECTEDMEASURE. This would create a DAX expression in the form:

CALCULATE( SELECTEDMEASURE(),

DATESMTD('Date'[DateColumn])

)

NEW QUESTION 44

- (Topic 2)

You have a Fabric tenant thal contains a takehouse named Lakehousel. Lakehousel contains a Delta table named Customer.

When you query Customer, you discover that the query is slow to execute. You suspect that maintenance was NOT performed on the table.
You need to identify whether maintenance tasks were performed on Customer. Solution: You run the following Spark SQL statement:
REFRESH TABLE customer Does this meet the goal?

A. Yes
B. No
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Answer: B

Explanation:
No, the REFRESH TABLE statement does not provide information on whether maintenance tasks were performed. It only updates the metadata of a table to
reflect any changes on the data files. References = The use and effects of the REFRESH TABLE command are explained in the Spark SQL documentation.

NEW QUESTION 45

- (Topic 2)

You have a Fabric tenant that contains a lakehouse named Lakehousel.

You need to prevent new tables added to Lakehousel from being added automatically to the default semantic model of the lakehouse.
What should you configure? (5)

A. the semantic model settings

B. the Lakehousel settings

C. the workspace settings

D. the SQL analytics endpoint settings

Answer: A

Explanation:

To prevent new tables added to Lakehousel from being automatically added to the default semantic model, you should configure the semantic model settings.
There should be an option within the settings of the semantic model to include or exclude new tables by default. By adjusting these settings, you can control the
automatic inclusion of new tables.

References: The management of semantic models and their settings would be covered under the documentation for the semantic layer or modeling features of the
Fabric tenant's lakehouse solution.

NEW QUESTION 47

- (Topic 2)

You have an Azure Repos Git repository named Repol and a Fabric-enabled Microsoft Power Bl Premium capacity. The capacity contains two workspaces named
Workspace! and Workspace2. Git integration is enabled at the workspace level.

You plan to use Microsoft Power Bl Desktop and Workspace! to make version-controlled changes to a semantic model stored in Repol. The changes will be built
and deployed lo Workspace?2 by using Azure Pipelines.

You need to ensure that report and semantic model definitions are saved as individual text files in a folder hierarchy. The solution must minimize development and
maintenance effort.

In which file format should you save the changes?

A. PBIP
B. PBIT
C. PBIX
D. PBIDS

Answer: C

Explanation:

When working with Power Bl Desktop and Git integration for version control, report and semantic model definitions should be saved in the PBIX format. PBIX is the
Power Bl Desktop file format that contains definitions for reports, data models, and queries, and it can be easily saved and tracked in a version-controlled
environment. The solution should minimize development and maintenance effort, and saving in PBIX format allows for the easiest transition from development to
deployment, especially when using Azure Pipelines for CI/CD (continuous integration/continuous deployment) practices.

References: The use of PBIX files with Power Bl Desktop and Azure Repos for version control is discussed in Microsoft’'s official Power Bl documentation,
particularly in the sections covering Power Bl Desktop files and Azure DevOps integration.

NEW QUESTION 48

- (Topic 2)

You are analyzing the data in a Fabric notebook.

You have a Spark DataFrame assigned to a variable named df.

You need to use the Chart view in the notebook to explore the data manually. Which function should you run to make the data available in the Chart view?

A. displayMTML
B. show

C. write

D. display

Answer: D

Explanation:

The display function is the correct choice to make the data available in the Chart view within a Fabric notebook. This function is used to visualize Spark
DataFrames in various formats including charts and graphs directly within the notebook environment. References = Further explanation of the display function can
be found in the official documentation on Azure Synapse Analytics notebooks.

NEW QUESTION 53

- (Topic 2)

You have a Fabric tenant that contains a warehouse.

A user discovers that a report that usually takes two minutes to render has been running for 45 minutes and has still not rendered.
You need to identify what is preventing the report query from completing. Which dynamic management view (DMV) should you use?

A. sys.dm-exec_requests

B. sys.dn_.exec._sessions

C. sys.dm._exec._connections
D. sys.dm_pdw_exec_requests
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Answer: D

Explanation:

The correct DMV to identify what is preventing the report query from completing is sys.dm_pdw_exec_requests (D). This DMV is specific to Microsoft Analytics
Platform System (previously known as SQL Data Warehouse), which is the environment assumed to be used here. It provides information about all queries and
load commands currently running or that have recently run. References = You can find more about DMVs in the Microsoft documentation for Analytics Platform
System.

NEW QUESTION 58

- (Topic 2)

You have a Fabric tenant that contains a Microsoft Power Bl report named Report 1. Reportl includes a Python visual. Data displayed by the visual is grouped
automatically and duplicate rows are NOT displayed. You need all rows to appear in the visual. What should you do?

A. Reference the columns in the Python code by index.
B. Modify the Sort Column By property for all columns.
C. Add a unique field to each row.

D. Modify the Summarize By property for all columns.

Answer: C
Explanation:
To ensure all rows appear in the Python visual within a Power Bl report, option C, adding a unique field to each row, is the correct solution. This will prevent

automatic grouping by unique values and allow for all instances of data to be represented in the visual. References = For more on Power Bl Python visuals and
how they handle data, please refer to the Power Bl documentation.

NEW QUESTION 62

- (Topic 2
Y(ou Eave)a Fabric warehouse that contains a table named Staging.Sales. Staging.Sales contains the following columns.
Name Data type Nullable
ProductlD Integer No
ProductName Varchar(30) No
SalesDate Datetime2(6) No
WholesalePrice Decimal(18, 2) Yes
Amount Decimal(18, 2) Yes

You need to write a T-SQL query that will return data for the year 2023 that displays ProductlD and ProductName arxl has a summarized Amount that is higher
than 10,000. Which query should you use?
A)

SELECT ProductlD, Productlame, SUM{Amount) AS TotalAmount
FROM Staging.Sales

WHERE DATEPART(YEAR,SaleDate) = "2023%°

GROUP BY ProductID, Productlame

HAVING SUM{Amount) > 10009

B)

SELECT ProductlD, ProductName, SUM(Amount) AS TotalAmount
FROM Staging.Sales

GROUP BY ProductlID, ProductMName

HAVING DATEPART(YEAR.SalsDats) = "2823' AND SUM(Amount
C)

SELECT ProductlD, ProductName, SUM(Amount) AS TeotalAmount
FROM Staging.Sales
WHERE DATEPART(YEAR,SaleDate) =

¥ 18880

"2023° AND SIM(Amount) > 10009

D)

SELECT ProductlD, ProductName, SUM{Amount) AS TotalAmount
FROM Staging.Sales

WHERE DATEPART(YEAR,SaleDate) = "2023'

GROUP BY ProductlD, ProductMame

HAVING TotalAmount > 10000

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

Explanation:

The correct query to use in order to return data for the year 2023 that displays ProductID, ProductName, and has a summarized Amount greater than 10,000 is
Option B. The reason is that it uses the GROUP BY clause to organize the data by ProductID and ProductName and then filters the result using the HAVING
clause to only include groups where the sum of Amount is greater than 10,000. Additionally, the DATEPART(YEAR, SaleDate) = '2023' part of the HAVING clause
ensures that only records from the year 2023 are included. References = For more information, please visit the official documentation on T-SQL queries and the
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GROUP BY clause at T-SQL GROUP BY.

NEW QUESTION 64

HOTSPOT - (Topic 2)

You have a Fabric tenant.

You plan to create a Fabric notebook that will use Spark DataFrames to generate Microsoft Power BI visuals.
You run the following code.

from powerbiclient import QuickVisuali:ze, get_dataset_config, Report

PBI_wisualize = Quickvisualize(get_ dataset_config(df))

PBI_wisualize

For each of the following statements, select Yes if the statement is true. Otherwise, select No. NOTE: Each correct selection is worth one point.
Answer Area

Statements | Yes No

The code emibeds an ewisting Power B report
The code creates 3 Power Bl repot.

The code displays 8 summarny of the
DataFrame

A. Mastered
B. Not Mastered

Answer: A

Explanation:

? The code embeds an existing Power Bl report. - No

? The code creates a Power Bl report. - No

? The code displays a summary of the DataFrame. - Yes

The code provided seems to be a snippet from a SQL query or script which is neither creating nor embedding a Power Bl report directly. It appears to be setting up
a DataFrame for use within a larger context, potentially for visualization in Power BI, but the code itself does not perform the creation or embedding of a report.
Instead, it's likely part of a data processing step that summarizes data.

References =

? Introduction to DataFrames - Spark SQL

? Power Bl and Azure Databricks

NEW QUESTION 69

HOTSPOT - (Topic 2)

You have a Microsoft Power B1 report and a semantic model that uses Direct Lake mode. From Power Si Desktop, you open Performance analyzer as shown in
the following exhibit.

Performance analyzer » X Visualizations >
" Refresh visuals (@ Stop Build visual
- @R
e rg?
~ ] E
® AT L XD
- i - # :l:l o
Mame Duration (ms) = = fl = Iﬂ] &= i
Y Recording started (5/15/2023 5:1049 PM b 00 MR B8 Uk N
Refreshed visuol I I, ®
& T w HTLEO0OE
DAX query 431 F A & [ =
3 =
Visual display 25 9 :!—% E E R Py
Other 181 o S
[Ty Copy query E o8 [ = ?a
Y Changed a filter x Lum of coll l
B Card 9205
DAX query 9055 Dnll through
Direct query B66D Cross-repon L]
Vitual display 24
Other 126 Eeep all filters m
[-ﬁ Copy query Add dnll-through fields here

Use the drop-down menus to select the answer choice that completes each statement based on the information presented in the graphic. NOTE: Each correct
selection is worth one point.

Anwwer Area
T Direct Lske faliback beturvior B 581 fo [answer choloe]l.  DawctCuspnyOndy -

Altomatic
Darecil alesniy
DiweciCueryUnky

The query for the table vitual & extculed by using [answer cholice].  the componie mockel -
1 compaiste madel
Dhrect Lake
Thi e Oy
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

? The Direct Lake fallback behavior is set to: DirectQueryOnly

? The query for the table visual is executed by using: DirectQuery

In the context of Microsoft Power BI, when using DirectQuery in Direct Lake mode, there is no caching of data and all queries are sent directly to the underlying
data source. The Performance Analyzer tool shows the time taken for different operations, and from the options provided, it indicates that DirectQuery mode is
being used for the visuals, which is consistent with the Direct Lake setting. DirectQueryOnly as the fallback behavior ensures that only DirectQuery will be used
without reverting to import mode.

NEW QUESTION 72

- (Topic 2)

You need to provide Power Bl developers with access to the pipeline. The solution must meet the following requirements:

* Ensure that the developers can deploy items to the workspaces for Development and Test.

 Prevent the developers from deploying items to the workspace for Production.

* Follow the principle of least privilege.

Which three levels of access should you assign to the developers? Each correct answer presents part of the solution. NOTE: Each correct answer is worth one
point.

A. Build permission to the production semantic models

B. Admin access to the deployment pipeline

C. Viewer access to the Development and Test workspaces

D. Viewer access to the Production workspace

E. Contributor access to the Development and Test workspaces
F. Contributor access to the Production workspace

Answer: BDE

Explanation:

To meet the requirements, developers should have Admin access to the deployment pipeline (B), Contributor access to the Development and Test workspaces
(E), and Viewer access to the Production workspace (D). This setup ensures they can perform necessary actions in development and test environments without
having the ability to affect production. References = The Power Bl documentation on workspace access levels and deployment pipelines provides guidelines on
assigning appropriate permissions.

NEW QUESTION 76

DRAG DROP - (Topic 2)

You have a Fabric tenant that contains a Microsoft Power Bl report named Report 1. Reportl is slow to render. You suspect that an inefficient DAX query is being
executed.

You need to identify the slowest DAX query, and then review how long the query spends in the formula engine as compared to the storage engine.

Which five actions should you perform in sequence? To answer, move the appropriate actions from the list of actions to the answer area and arrange them in the
correct order.

Actions Answer Area
View Server Timings 1at
T Lo ¥ T A [; L
1 record
, Enable Queny Timings and Sensaet
Timangs. Run the query
2 View the Query Timings tab
Sort the Duration (ms) column in
escending order by DAK query
e
_opy the first query to DAX St
A. Mastered

B. Not Mastered
Answer: A

Explanation:

To identify the slowest DAX query and analyze the time it spends in the formula engine compared to the storage engine, you should perform the following actions
in sequence:

? From Performance analyzer, capture a recording.

? View the Server Timings tab.

? Enable Query Timings and Server Timings. Run the query.

? View the Query Timings tab.

? Sort the Duration (ms) column in descending order by DAX query time.

NEW QUESTION 78
HOTSPOT - (Topic 2)
You have a Fabric warehouse that contains a table named Sales.Products. Sales.Products contains the following columns.

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM DP-600 Dumps From Exambible
exam blbk—.‘ https://www.exambible.com/DP-600-exam/ (80 Q&AS)

Name Data type Nullable
ProductiD Integer No
ProductName Varchar(30) No
ListPrice Decimal(18, 2) No
WholesalePnce Deamal(18, 2) Yes
AgentPrice Decimal(18, 2) Yes
You need to write a T-SQL query that will return the following columns.
Name Description
ProductiD Return the ProductlD value

Returns the highest value from ListPrice,
WholesalePrice, and AgentPrice

Returns the AgentPrice value iIf present,
TradePrice otherwise returns the WholesalePrice value if
present, otherwise returns the ListPrice value

HighestSellingPrice

How should you complete the code? To answer, select the appropriate options in the answer area.

Answer Area

SELECT ProductID.

GQ:__,&_._ES"' ™ (ListPrice, WholesalePrice, AgentPrice) A5 righestsellingPrice,

| COALESCE

GREATEST

IE
| MAX

COALESCE ¥ | [Agentfrice, WholesalePrice, ListPnce) AS TradePrice

| CHODSE
FRE

F

MAX

A. Mastered
B. Not Mastered

Answer: A

Explanation:

? For the HighestSellingPrice, you should use the GREATEST function to find the highest value from the given price columns. However, T-SQL does not have a
GREATEST function as found in some other SQL dialects, so you would typically use a CASE statement or an IIF statement with nested MAX functions. Since
neither of those are provided in the options, you should select MAX as a placeholder to indicate the function that would be used to find the highest value if
combining multiple MAX functions or a similar logic was available.

? For the TradePrice, you should use the COALESCE function, which returns the first non-null value in a list. The COALESCE function is the correct choice as it
will return AgentPrice if it's not null; if AgentPrice is null, it will check WholesalePrice, and if that is also null, it will return ListPrice.

The complete code with the correct SQL functions would look like this:

SELECT ProductID,

MAX(ListPrice, WholesalePrice, AgentPrice) AS HighestSellingPrice, -- MAX is used as a placeholder

COALESCE(AgentPrice, WholesalePrice, ListPrice) AS TradePrice FROM Sales.Products

Select MAX for HighestSellingPrice and COALESCE for TradePrice in the answer area.

NEW QUESTION 80
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